Solutions to Chapters 3-4 Cumulative Review.notebook January 15, 2013
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= L2sinX= 9sin12°
N cos ©=(5.8)+(3.2)* (6.\)° 1o- 12
2L(53)¥3.2) A 62 c. 52 SinX = O.7133
2N A cos®=33.6M+10.24 ~37.2 | N oo X = sin ' (01133)
em 3112 X =Mg°
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X ©=32°
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Determine the indicared side lengeh, to the nearest tenth. o *x*= (5.0 (S 2(S 1S eos 69°
L 5. X*=96.01+2¢.01~52.02(0.3584)
> . o X2=52.02 ~18.64
z o . A= 33.3%
x2= 53cm
P A 74dam  C 48cm
- 5.8cm D. 47 cm
X =93 X %= (13)"+(14)= 20304 ) cos29°
SIndT SINGR®  XEIA+196-364(0.8746) 7. Simon knows lengths  and ¢ in AABC. He also knows one of the angles,
. (g . RPvE . < ~31%8.3 and this gives him enough information to use the cosine law to determine &.
rx;ﬁ’g %?\‘;;D ');1 :3-32 :_{ZEDSQL’ Which angle could be the one Simon knows?  B*= a*+C*~2.ac cos Yz
~ ‘,2,: [élm;ﬂ . 1@‘&3.\-7\‘ A 24 /_B G LG D. any of these
8. Which of the following ratios is the same for each side-angle pair in
A)181mm € 235mm A19m  C 261m arangle?
B 1s6mm D.292mm  (B)68m D. 46.6m A y B. si:A (©)botn D. neither
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9. You are given three pieces of information about the measures of the angles

and sides in a triangle. In which of the following situations can the 11. Given the informarion shown, in which situation are two triangles a
sine law NOT be used to solve the triangle? possible?
Assa @S o Cas D. 445 A LAobse, h<b<a (©)edacue h<a<b !
([ o 1
10. In AXYZ, x = 4.3 cm, y = 3.1 cm, and z = 5.9 cm. Which is the largest angle, B. /Aacute, s <h<b D. /A obtuse, 2> b h=bsmA: b
and is it obtuse? !
A LYiyes L7 yes C LZno D. L¥no 12. Which set of measutements results in no possible triangles? A Sl

Oy e P<q,
A ZP=25%p=35mg=62m (C)LP=135p =58 mc,Lq:mm

hargest FAngle = Z (across from larges+ Side)
: i B. LP=96°p=52m¢g=50m D.LP=48p=74mg=71m

CosZ= X*+ v 2*=2*
2.xY

cosZ=(4.3)*+(3.1)*=(59)"

2(4.3)(3.1)
CosZL= 13MA+ 9.62,-34.81

D6.66
cosq= =&

YA

Cosq{= ~0.2513
7z = cos™'¢0.2513)
Z = 105° (obtuse)

13. The cosine law does not have an ambiguous case. Why not? 19. Solve AUVW. Round angles to the nearest degree and lengths to the nearest v
A. The cosine law does not apply to obtuse triangles. endiie & beeceel
(B)The cosine of an obtuse angle is ahways negative. 2U=4g" LV=€0"° w=5] m 52m
C. The principal value of a square root is always positive. A ~ 8 ”
= ) 1=(=.2)* w= (5 s S 12"
D. The cosinc law canno be uscd if the unknown angle is obtusc. CosU=(el)+61(5.2) W= (5041 AS2) e lces 72 —
. 2.(6.1)(¢1) W= 104 #3721 63N 0300
18. Solve APQR. Round Lengths to the nearest tenth of a centimetre and angles to CosU=3T.21+44.89-271.08  W'=¢4.25-19.6030
the nearest degree. 314 W= 44, 6N T
g=44 em r=2.4 om LR-30° - cosU= 55.0G W= 6Tm
: & Q1T
Lo=x c =47 <RK=180-c1-83" cosU= 0.¢136 <NV=1g0%T2°-NQ"
AL e - = = st
SInGT Sing83 SIn3¢° Sin33 = 30 u c;% (0.6136)
- .

083" =47 Sing] rSind®*=41sin3c
D" SINE3I°T  SB3° Sin33°
C{:H_‘\Jcm r =d.Mcm
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26. The base of a cliff, 4, is surveyed from owo different points, C and D, at the
SKeteh ' same horizontal level. The clevation of the top of the cliff, B, is taken from €.
a) What is the height of the cliff, to the nearest metre?
< CAD= 180-587-4%"
<CAD="T5°
d =147
sinsT° SIn13°
d sim?s°= INTSInS7°

20, Ricardo s landscaping parc of a garden in che shape of an acure rriangle. He
wrants the sides of the triangle to be 13 m, 17 m, and 19 m long, Decermine,

to the nearcst degree,
4) the measure of the smallest angle in Ricardo’s wriangle: 442, °
b) the measure of the largest angle in Ricardo's triangle: 17 °

a)Smallest Analeis opposite smallest sides
0y Simts® sSin15°
cos @=(*+QN=(13)* = . =
20109) ‘ " Sin 'Z)és”
Coas®= LEQ%S%HL@H < B=180-6-90° - 198 Sne2
= <B=28" SindB
Cos©=4g1 - JYOmM
696 o NPy
= “The c\iff s OMOm high
)
/ b) To the nearest degree, what is the elevation of the eliff taken from D?
X = 147 tan © = app
adj

Sin4g8” SinT73°
LSin5 = 1477 .Sin 4 §
Sis® Sin13°

xX=13m

+an®= Q40
1

b) Laraest Angle (s opposite to \urgeS'\'S\‘deZ
S) J

Cos % =(ID+(N*(19)*

2.03U7)
Cos X= 169+089-3cl
NN2
£ the cliff
63"

cesX= 0.9195,
X o3 (0.0195)
xX="11°

1
n
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